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HEg2s 177,216 176,017 1,199
AlH 11,370
T Hl 165,846
ZE2s F0MH JIBtA S 155,151 155,835 A 684
Al HI 11,370
-l 143,781
FOHEH 2GLLHA S 155,151 155,835 A 684
Al HI 11,370
I 143,781
s.0E gSH XA 118,810 115,470 3,340
301 L2 A F 118,810 115,470 3,340
058 -2l -gEasE43 118,810 115,470 3,340
os&d=¢ 200,000& x34H x 123 81,600
OsHaNH= 200,000& x34Y %23 13,600
Os&3lo &+ 20,0003 +34H 128 8,160
Oostagaas 25,0003 x3094Y %23 15,450
FURKE 2YRE 15,160 10,600 4,560
AlHI 11,370
L Hl 3,790
201 LBH2Z| 15,160 10,600 4,560
AlHI 11,370
T Hl 3,790
01 At 2t 2l 15,160 10,600 4,560
OFUXXE Z2OHAAY
20,0003 =493 x12& 11,760
AlHI 8,820
L Hl 2,940
OFURXIS RGN BA 25
10,0003 *25H 123 *90% 2,700
AlHI 2,025
I 675
O=28 & 700,000& 700
Al 525
- Hl 175
FAMSA & e 20,881 15,465 5,416
201 Let2d] 13,881 15,465 AN 1,584
02 2324l 13,881 15,465 A 1,584
OFAMRNE = 700
st EH AU 200,000& 200
SYIFAHI 200,000& 200
- DR R 300,000& 300
Oxg=Adl s 2,500,000 2,500
OF A HZ 4| 200,000 200
O&EAMA=SF X HI 1,551,000 1,551
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